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CHpaPTeR 8
PoST_ASSessmeat

1. Graph the following and answer the questions:

y=x2-10x+ 21 (X-?)(X’%)

Opens Up or Down? M«P

Max or Min? _MIiN

To -
y-intercept? M) Zz=5
Vertex? _(5_,‘_"’) (6)2'— 50 + zl
-26+2|
x-intercepts: M)_ and _(_&.Q_
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2. Use the Graphing Calculator to find the x-
intercepts:

y=-3x2+4x-10

NO Solution
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CHaPTeR B
PoST_ASSeSsmeat

1. Graph the following and answer the questions:

y=x%2-10x+ 21
Opens Up or Down?
Max or Min?
y-intercept?
Vertex?

x-intercepts: and

10

1045 5 0 5 10

2. Use the Graphing Calculator to find the x-
intercepts:

y=-3x2+4x-10
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